

# Your quote is ready for purchase.

Complete the purchase of your personalized quote through our secure online checkout before the quote expires on **Jun. 30, 2025**.

You can download a copy of this quote during checkout.

## Place your order

**Billing To** 

 Quote No.
 3000191223587.1

 Total
 \$556,289.86

 Customer #
 12242947

 Quoted On
 Jun. 12, 2025

 Expires by
 Jun. 30, 2025

 Contract Name
 Dell NASPO Computer

 Equipment PA - Arizon

Contract Name

Contract Code

Customer Agreement #

Dell NASPO Computer
Equipment PA - Arizona
C000001124007
23026 / CTR068890

Sales Rep Kayden Ortiz

Phone 1(800) 456-3355, +15127206257 Email Kayden, Ortiz@Dell.com

Kayden.Ortiz@Dell.com ACCOUNTS PAYABLE LAKE HAVASU CITY

2330 MCCULLOCH BLVD N LAKE HAVASU CITY, AZ 86403-

5950

#### Message from your Sales Rep

Please use the Order button to securely place the order with your preferred payment method online. You may contact your Dell sales team if you have any questions. Thank you for shopping with Dell.

Regards, Kayden Ortiz

### **Shipping Group**

Shipping To JONATHAN BASKETTE LAKE HAVASU CITY 2330 N MCCULLOCH BLVD N LAKE HAVASU CITY, AZ 86403 (928) 854-0743 Shipping Method Standard Delivery

	Quantity	Unit Price	Subtotal
MICROSOFT SLG EA 6.0 - 49237154			
<ol> <li>VLA ENTERPRISE M365 E5 FROM SA GCC ALNG SUBSVL MVL</li> </ol>	593	\$560.67	\$332,477.31
2. VLA ENTERPRISE M365 E5 GCC ALNG SUBSVL MVL PERUSR	240	\$613.24	\$147,177.60
3. VLA ENTERPRISE CISSTEDCCORE ALNG SA MVL 2LIC CORELIC	56	\$184.12	\$10,310.72
4. VLA ENTERPRISE PROJECT PRO W/SERVER CAL SA ALL LANGUAGES	12	\$211.87	\$2,542.44

		Total:	\$556,289.86
		Subtotal: Shipping: Estimated Tax:	\$516,997.99 \$0.00 \$39,291.87
12. VLA ENTERPRISE O365XTRAFILESTRGGCC ALNG SUBSVL MVL ADDON XTRASTRG1GB	SHRDSVR 1000	\$2.20	\$2,200.00
11. VLA ENTERPRISE M365 COPILOT GCC SUB	ADD-ON 2	\$366.77	\$733.54
10. VLA ENTERPRISE WINDOWS REMOTE DESK SERVICES DEVICE CAL SA ALL LANGUAGES		\$21.64	\$865.60
<ol><li>VLA ENTERPRISE WINDOWS REMOTE DESK SERVICES USER CAL SA ALL LANGUAGES</li></ol>	TOP 50	\$26.16	\$1,308.00
8. VLA ENTERPRISE VISIO PRO SA ALL LANGU	JAGES 54	\$110.64	\$5,974.56
<ol> <li>VLA ENTERPRISE VISIO ONLN P2 GCC SHRD SUBSVL MVL PERUSR</li> </ol>	OSVR ALNG 5	\$137.16	\$685.80
6. VLA ENTERPRISE TEAMS ROOMS PRO GCC DEVICE	SUB PER 18	\$430.34	\$7,746.12
<ol><li>VLA ENTERPRISE SQL SERVER ENT SA PER ALL LANGUAGES</li></ol>	2 CORE LIC 2	\$2,488.15	\$4,976.30

Special pricing may be available for qualified customers. Please contact your DFS Sales Representative for details.



## **Shipping Group Details**

**Shipping To** 

**Shipping Method** 

JONATHAN BASKETTE LAKE HAVASU CITY 2330 N MCCULLOCH BLVD N LAKE HAVASU CITY, AZ 86403 (928) 854-0743 Standard Delivery

			Quantity	Unit Price	Subtotal
MICF	ROSOFT SLG EA 6.0 - 49237154				
1.	VLA ENTERPRISE M365 E5 FROM MVL	SA GCC ALNG SUBSVL	593	\$560.67	\$332,477.31
	<b>SKU:</b> AD371610	MFG Part #: AAL-48033	OLS Purchase Type:		
	<b>Current Duration:</b> 12	<b>Total Duration:</b> 36	Maint. End Date: Jun. 30, 2028		
2.	VLA ENTERPRISE M365 E5 GCC A PERUSR	ALNG SUBSVL MVL	240 \$613.24		\$147,177.60
	<b>SKU</b> : AD371611	MFG Part #: AAL-45735	OLS F	Purchase Type:	
	Current Duration: 12	<b>Total Duration:</b> 36	Maint. End Date: Jun. 30, 2028		
3.	VLA ENTERPRISE CISSTEDCCOR CORELIC	RE ALNG SA MVL 2LIC	56	\$184.12	\$10,310.72
	<b>SKU</b> : AD371612	MFG Part #: 9GS-00135	OLS Purchase Type:		
	Current Duration: 12	<b>Total Duration:</b> 36	Maint	. End Date: Jun. 30, 2028	
4.	VLA ENTERPRISE PROJECT PRO LANGUAGES	W/SERVER CAL SA ALL	12	\$211.87	\$2,542.44
	<b>SKU</b> : AD371613	MFG Part #: H30-00238	OLS F	Purchase Type:	
	Current Duration: 12	Total Duration: 36	Maint. End Date: Jun. 30, 2028		
5.	VLA ENTERPRISE SQL SERVER E	ENT SA PER 2 CORE LIC	2	\$2,488.15	\$4,976.30
	<b>SKU</b> : AD371614	MFG Part #: 7JQ-00343	OLS Purchase Type:		
	Current Duration: 12	<b>Total Duration:</b> 36	Maint	Maint. End Date: Jun. 30, 2028	
6.	VLA ENTERPRISE TEAMS ROOMS DEVICE	S PRO GCC SUB PER	18	18 \$430.34  OLS Purchase Type: Maint. End Date: Jun. 30, 2028	
	<b>SKU</b> : AD371615	MFG Part #: VA1-00001	OLS F		
	Current Duration: 12	Total Duration: 36	Maint		
7.	VLA ENTERPRISE VISIO ONLN P2 SUBSVL MVL PERUSR	2 GCC SHRDSVR ALNG	5	\$137.16	\$685.80
	<b>SKU</b> : AD371616	MFG Part #: P3U-00001	OLS F	Purchase Type:	
	Current Duration: 12	<b>Total Duration:</b> 36	Maint. End Date: Jun. 30, 202		
8.	VLA ENTERPRISE VISIO PRO SA	ALL LANGUAGES	54	\$110.64	\$5,974.56
	<b>SKU</b> : AD371617	MFG Part #: D87-01159	OLS F	Purchase Type:	
	Current Duration: 12	Total Duration: 36	Maint	Maint. End Date: Jun. 30, 2028	
9.	VLA ENTERPRISE WINDOWS REMUSER CAL SA ALL LANGUAGES	MOTE DESKTOP SERVICES	50	\$26.16	\$1,308.00

SKU: AD371618 MFG Part #: 6VC-01254 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Jun. 30, 2028

10. VLA ENTERPRISE WINDOWS REMOTE DESKTOP SERVICES 40 \$21.64 \$865.60

**DEVICE CAL SA ALL LANGUAGES** 

SKU: AD371619 MFG Part #: 6VC-01253 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Jun. 30, 2028

11. VLA ENTERPRISE M365 COPILOT GCC SUB ADD-ON 2 \$366.77 \$733.54

SKU: AD371620 MFG Part #: EP2-24658 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Jun. 30, 2028

12. VLA ENTERPRISE O365XTRAFILESTRGGCC SHRDSVR 1000 \$2.20 \$2,200.00

ALNG SUBSVL MVL ADDON XTRASTRG1GB

SKU: AD371621 MFG Part #: M9T-00002 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Jun. 30, 2028

#### **Important Notes**

#### **Terms of Sale**

This Quote will, if Customer issues a purchase order for the quoted items that is accepted by Supplier, constitute a contract between the entity issuing this Quote ("Supplier") and the entity to whom this Quote was issued ("Customer"). Unless otherwise stated herein, pricing is valid for thirty days from the date of this Quote. All products, pricing, and other information is based on the latest information available and is subject to change for any reason, including but not limited to tariffs imposed by government authorities. Supplier reserves the right to cancel this Quote and Customer purchase orders arising from pricing errors. Taxes and/or freight charges listed on this Quote are only estimates. The final amounts shall be stated on the relevant invoice. Additional freight charges will be applied if Customer requests expedited shipping. Please indicate any tax exemption status on your purchase order and send your tax exemption certificate to Tax\_Department@dell.com or ARSalesTax@emc.com, as applicable.

Governing Terms: This Quote is subject to: (a) a separate written agreement between Customer or Customer's affiliate and Supplier or a Supplier's affiliate to the extent that it expressly applies to the products and/or services in this Quote or, to the extent there is no such agreement, to the applicable set of Dell's Terms of Sale (available at <a href="https://www.dell.com/oemterms">www.dell.com/oemterms</a>), or for cloud/as-a-Service offerings, the applicable cloud terms of service (identified on the Offer Specific Terms referenced below); and (b) the terms referenced herein (collectively, the "Governing Terms"). Different Governing Terms may apply to different products and services on this Quote. The Governing Terms apply to the exclusion of all terms and conditions incorporated in or referred to in any documentation submitted by Customer to Supplier.

**Supplier Software Licenses and Services Descriptions**: Customer's use of any Supplier software is subject to the license terms accompanying the software, or in the absence of accompanying terms, the applicable terms posted on www.Dell.com/eula. Descriptions and terms for Supplier-branded standard services are stated at www.dell.com/servicecontracts/global or for certain infrastructure products at www.dellemc.com/en-us/customer-services/product-warranty-and-service-descriptions.htm.

Offer-Specific, Third Party and Program Specific Terms: Customer's use of third-party software is subject to the license terms that accompany the software. Certain Supplier-branded and third-party products and services listed on this Quote are subject to additional, specific terms stated on www.dell.com/offeringspecificterms ("Offer Specific Terms").

In case of Resale only: Should Customer procure any products or services for resale, whether on standalone basis or as part of a solution, Customer shall include the applicable software license terms, services terms, and/or offer-specific terms in a written agreement with the enduser and provide written evidence of doing so upon receipt of request from Supplier.

In case of Financing only: If Customer intends to enter into a financing arrangement ("Financing Agreement") for the products and/or services on this Quote with Dell Financial Services LLC or other funding source pre-approved by Supplier ("FS"), Customer may issue its purchase order to Supplier or to FS. If issued to FS, Supplier will fulfill and invoice FS upon confirmation that: (a) FS intends to enter into a Financing Agreement with Customer for this order; and (b) FS agrees to procure these items from Supplier. Notwithstanding the Financing Agreement, Customer's use (and Customer's resale of and the end-user's use) of these items in the order is subject to the applicable governing agreement between Customer and Supplier, except that title shall transfer from Supplier to FS instead of to Customer. If FS notifies Supplier after shipment that Customer is no longer pursuing a Financing Agreement for these items, or if Customer fails to enter into such Financing Agreement within 120 days after shipment by Supplier, Customer shall promptly pay the Supplier invoice amounts directly to Supplier.

Customer represents that this transaction does not involve: (a) use of U.S. Government funds; (b) use by or resale to the U.S. Government; or (c) maintenance and support of the product(s) listed in this document within classified spaces. Customer further represents that this transaction does not require Supplier's compliance with any statute, regulation or information technology standard applicable to a U.S. Government procurement.

For certain products shipped to end users in California, a State Environmental Fee will be applied to Customer's invoice. Supplier encourages customers to dispose of electronic equipment properly.

Electronically linked terms and descriptions are available in hard copy upon request.